E39-L/F39-L/E39-S/E39-R

- Accessories Applicable sensor Page
Model g Count . . (mounting pitchon [~
materials Description Material Count sensor side) Dimensions
Slotted/Phillips screws M4 x 25 Stainless steel (SUS304) 2
E39-L131 Stainless steel 1 Spring washer M4 Stainless steel (SUS304) 2 E3G-R1[] (25)
(SUS304) Plain washer M4 Stainless steel (SUS304) 2 E3G-L70] (25)
Nuts M4 Stainless steel (SUS304) 2
Slotted/Phillips screws M4 x 25 Stainless steel (SUS304) 2
E39-L132 Stainless steel 1 Spring washer M4 Stainless steel (SUS304) 2 E3G-R1[1 (25)
(SUS304) Plain washer M4 Stainless steel (SUS304) 2 | E3G-L70J (25)
Nuts M4 Stainless steel (SUS304) 2
Slotted/Phillips screws M4 x 35 Stainless steel (SUS304) 2
E39-L135 Stainless steel 1 Spr-ing washer M4 Sta?nless steel (SUS304) 2 E3G-MR19 (T)
(8US304) Plain washer M4 Stainless steel (SUS304) 2 | E3G-ML79 (T)
Nuts M4 Stainless steel (SUS304) 2 12
Slotted/Phillips screws M4 x 35 Stainless steel (SUS304) 2
E39-L136 Stainless steel 1 Spring washer M4 Stainless steel (SUS304) 2 E3G-MR19 (T)
(SUS304) Plain washer M4 Stainless steel (SUS304) 2 E3G-ML79 (T)
Nuts M4 Stainless steel (SUS304) 2
X ) .
E39-L142 (Ss‘fjg'ggjftee' 1 (Sv'v‘i’t‘;egéfi’:g"gﬁdsglr;“rvfw“gghef‘s) Stainless steel (SUS304) 2 (Ezssz_‘{)"e wired model
E3X-DA-S/MDA
Stainless steel ESX-NA
E39-L143 (SUS304) 1 None --- | E3C-LDA
E2C-EDA
E4C-UDA
X ) .
Eao-L144 | Semessstedl | [ SlotedPhillps screws M3 12 grainiess steel (sUS304) | 2 | ESZfrewired mode
E39-L148 (Sstfjg'ggjftee' 1| None — | E3X-NA
E39-L149 |0 coating 1 | None E3Z-G
Holder/bracket PBT (polybutylene tereph- 1
thalate)
Stai Shaft (brace) Stainless steel (SUS304) 1 E3Z (25.4)
E39-L150 ( éﬂg‘ggifteel 1 | Bolt with hexagonal hole Stainless steel (SUSXM7) | 1 | E3S-R6LV/R8 (20)
Nut Stainless steel (SUS304) 1 E39-R3
Phillips screw Stainless steel (SUSXM7) 1 13
Slotted/Phillips screws Stainless steel (SUS304) 2
Holder/bracket PBT (polybutylene tereph- 1
thalate)
Stai Shaft (brace) Stainless steel (SUS304) 1 E3Z (25.4)
E39-L151 ( Stlajglggz)steel 1 | Bolt with hexagonal hole Stainless steel (SUSXM7) 1 | E3S-R6LI/R8II (20)
Nut Stainless steel (SUS304) 1 E39-R3
Phillips screw Stainless steel (SUSXM7) 1
Slotted/Phillips screws Stainless steel (SUS304) 2
E39-L153 Stainless steel 1 Slqtted/P_hiIIips screws M3 x 8 Sta@nless steel (SUSXM7) 2 E3Z pre-wired model
(SUS304) (with spring and plain washers) Stainless steel (SUS304) (25.4)
Note: Applicable models that appear shaded come with the Mounting Brackets at left as accessories.

OMmRON




E39-L/F39-L/E39-S/E39-R

E39-L144 E39-L148
R1.7
Two, R17 {
Two, 50° B4
__.}-'"‘; ?
y
35 2
Four, R1.6\* Two, 3.2 dia.
7| t" 254  |Two, R25.4 [ 143 15
. o1
7.3 L
I
Material: Stainless steel (SUS304) ;\o/ Material: Stainless steel (SUS304)
E39-L149 E39-L150
E39-L151 58 " 20
o 4.5 Two, 3.5
-13.6~ [e——45 Four, 4.5 dia. Polybutylene 1
‘ our, 4.5 dia tergphtrzlalate T
22.7
] L O—t—1 j 16.8
s 2L ~ Fourms” | | 1L 05 Two,35dia. [®@]
| | l . | 10 dia.

Stainless steel

SUS 304
55 | [105 Pz/ ¢ )
Two, 6.5 dia. 8
ﬁ i
N e
45 fp———— - — 1 é 21 I
! P | | ‘© |
— Polybutylene L Ll
% terephthalate 19
e 46—
Length (mm)
Model L
E39-L150 65
E39-L151 165
E39-L153 ok
o [
N
N[
Py .
Pamm| 4 35
Two, R1.75 {4-3
4 ‘ Eight, R1.75
V4
Four, 3.5 *ﬁ ; ‘T
2514 M
’M'W
:.:}12 =
fo—22 |
i Unit: mm
ContaCt Mou ntl ng Plate Tolerance class IT16 applies to dimensions in this datasheet unless othegwise specified.
E39-L60
(33) z +11.75+]

/l\ 55 20 5 25
> f I il

11.75 4 c P37 dia
L E— o

3.4 dia.

*44
f

Material: PBT (polybutylene terephthalate)

OMmRON




